Infinity Drop Base Hardware




Infinity Drop Base Hardware

Quantity Per
Iltem
Number | Note | Part Number |Description Package | Assembly
1 A 1084040 Kit, Drop Base Hooks and Hardware 1 1
2 Screw, Socket Button Head (1/4-20 x 5/8") 1 8
3 Lockwasher, Split (1/4") 1 8
4 Washer, Steel (5/16 x 3/4 x 1/16") 1 8
5 Extrusion, Drop Base 1 4
6 Cap, End 1 8
7 Nut, Track 1 8
8 Key, Allen (5/32") 1 1
9 Key, Allen (1/8") 1 1
10 Hook, Drop Base 1 4
11 NLA - Screw, Socket Flat Head (#10-32 x 3/8") 1 8
12 B 1084152-NLA | NLA - Kit, Infinity Drop Hook 1 1
8 Key, Allen (5/32") 1 1
9 Key, Allen (1/8") 1 1
10 Hook, Drop Base 1 4
11 NLA - Screw, Socket Flat Head (#10-32 x 3/8") 1 8
13 See Chart Item #13 - Drop Base Pans 1 1
14 C 1084039-NLA | NLA - Kit, Drop Base Clamp with Instruction Sheet 1 1
15 NLA - Clamps, Fixed Rail w/ Instruction Sheet 2 1
(7/8" and 1" Tubing) (Pair)
16 NLA - Clamps, Slide Release Rail w/ Instruction 2 1
Sheet (7/8" and 1" Tubing)
NLA - Instruction Sheet, Slide Release 1 1
17 D 1084355-NLA | NLA - Kit, Infinity Drop Base Hardware 1 1
18 Screw, Socket Button Head (1/4-20 x 5/8") 1 8
19 Lockwasher, Split (1/4") 1 8
20 Washer, Steel (5/16 x 3/4 x 1/16") 1 8
21 NLA - Screw, Socket Flat Head (#10-32 x 3/8") 1 8
NOTE: A -Includes: ltems 2 - 11
B - Includes: Items 8 - 11
C - Includes: Items 15, 16 and Instruction Sheet
D - Includes: Items 18 - 21
Item #13 - Drop Base Pans
16" Deep 18" Deep 20" Deep
14-16" Wide 1084041-NLA 1084042-NLA 1084043-NLA
17-19" Wide 1084044-NLA 1084045-NLA 1084046-NLA
20-22" Wide 1084047-NLA 1084048-NLA 1084049-NLA




